T12

LAUMAS"
MOUNTING KIT for BENDING BEAM load cells

Rev. 0.0

Series load cells: FCAL - FCAX - FTK - FTKL - FTP - FT-P - FTZ

Up to 2000 kg application range

T12FCAGP . T12FTAGP

MAX STATIC LOAD kg FOR LOAD CELLS NET WEIGHT (kg) CODE
T 500 T s rizrcAGe

Load cell not included

DESCRIPTION

Upper plate with a compression joint in AISI 304 stainless steel
and rubber.

Lower plate and block in galvanized steel.

Compensation for any misalignments of the support plates of the
structure.

Locking screw to avoid damage during transport and installation.
Can be used for systems with at least 3 supports.

LAUMAS Eletironica sf Phone: (+39) 0521 683124 «  Fax (+39) 0521 681091 IS0 9001 |
UFFICIO VENDITE ITALIA: commerciale@laumas.it * EXPORT SALES DEPARTMENT: sales@laumas.it IS0 14001 WwWw.laumas.com



T12

MOUNTING KIT for BENDING BEAM load cells

u=
)

C
<
»
0y

Rev. 0.0

DIMENSIONS AND TECHNICAL SPECIFICATIONS

During the transport and installation the lock (*) must touch under
the load cell. After installation, move the lock away from the load cell.

Interconnect the lower plates to the earthing.

In case of structure with four-point support, if one-point does not
touch the upper part of the mounting kit, you must proceed to

insert a shim before fixing the bolts.

For the load cell fixing screws (), provide a tightening torque of 79 Nm.

for load cell: FTK - FTKL - FTP - FT-P - FTZ (max 2000 kg) for load cell: FCAL - FCAX (max 1500 kg)
ANTIV40 ANTIV45
(M12x1.75) \ PIAGP | PIAGP | (M12x1.75)
Bismug
| ]
|
‘ |
‘ 5 N
} load cell ’ - — * Joad cel‘( _ —
\ |
| . 1 |
‘BLOCT1ZC oy BLOCT1?C
\ o, g IO |
} PIAT12FCA PIAT12FCA }
185 || | 185
PIAT12FCA PIAT12FCA
O ° O O o O
CORRECT POSITIONNING OF BEOCTIZC CORRECT POSITIONNING OF BEOCTZC)
THE METAL BLOCK ON THE o O THE METAL BLOCK ON THE o O
LOWER PLATE 185 % | 16 LOWER PLATE 10 125 135
O O O O
PIAT12FCA BLOCT12C PIAGP
© | ©
T o ~1 2 o1 o 13
"L 2013 \ 4x @13 e \/
4x M12x1.75 (*) 51 8 3| T— »i
e R N
o
8 8 ¢ >4 — -
Al \ \ I A 9 © ©
4x @13 15 90 |15
I \10 25 \ 16 \ 120
©
15 130 15 i . ,
= N
160 Ff‘ B
Q
Section A-A
7
‘ @34 ‘

SLLEN

L Jss

ANTIV40
(M12x1.75 mm)

ANTIV45
(M12x1.75 mm)

FIXING TO THE WEIGHED STRUCTURE

POSSIBLE UPPER PLATE POSITIONS

J STRUCTURE

‘ ‘ STRUCTURE g\
o o ol o o O
° o
’
e
o O] o o o

The Company reserves the right to make changes to the technical data, drawings and images without notice.

LAUMAS Elettronica sl Phone:
UFFICIO VENDITE ITALIA: commerciale@laumas.it *

(+39) 0521 683124

Fax (+39) 0521
EXPORT SALES DEPARTMENT: sales@laumas.it

ISO 9001
ISO 14001

681091

www.laumas.com



